=B 3 Bz B POE AE
T1 6/29 (B) 9:00-10 : 00 NP <y b -BLUHE - #kiE
T2 6/29 (B) 10 : 00-11 : 00 U} <y b -BLUHE - #kiE
T3 6/30 (B) 15 : 30-16 : 30 ] < v b -BRUOFE - 8kiE
T4 6/30 (B) 16 : 30-17 : 30 NP < v b-BOF - 8iE
T5 7/26 (1) 15 : 00-16 : 00 " <2 v b-BKUFE - #KiE
T6 7/26 () 16 : 00-17 : 00 NP <y b -BLUHE - #kiE
T7 7/27 (B) 9:00-10 : 00 INPE <y b -BLUHE - #kiE
T8 7/27 (B) 10 : 00-11 : 00 ] < v b-BOF - 8iE
T9 7/28 (B) 15 : 30-16 : 30 %2 < v b-BUOF - iE
T10 7/28 (B) 16 : 30-17 : 30 INBHE < v b-BUOF - %iE
Ti1 7/30 (%) 15 : 30-16 : 30 iR <y b -BLUFE - #kiE
T12 7/30 () 16 : 30-17 : 30 INFAE < v b -BUFE- 8kiE
T13 7/31 (k) 15 : 30-16 : 30 R <y b -BLUFE - #kiE
T14 7/31 (K) 16 : 30-17 : 30 INEE < v b-BUFE- ki
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